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General Instructions :

Read the following instructions carefully and follow them :

(1) This questions paper contains 30 questions. All questions are compulsory.

(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iii) Section A — Questions no. 1 to 17 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 18 and 19 are Source-based questions. Each
question carries 3 marks.

(v) Section C - Questions no. 20 to 23 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

(vi) Section D - Questions no. 24 to 28 are Long Answer type questions. Each
question carries 5 marks. Answer to these questions shall be written in 120 to
150 words.

(vii) Section E — Questions no. 29 and 30 are Map-based questions. Each question
carries 5 marks.

(viii) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, map
etc. Such questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice given in the question paper. However, an internal
choice has been provided in a few questions in all sections other than Section A.

SECTION A
Questions no. 1 to 17 are Multiple Choice Type Questions. 17x1=17
1. Bharmaur tribal region is dominated by which one of the following

tribes ?

(A)  Gond
(B) Santhal
(C) Bhils
(D)  Gaddi
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2. Which one of the following is a component of population change in the
world ?
(A)  Urbanisation
(B) Industrialisation
(C)  Migration
(D) Education
3. Which one of the following is the positive impact of irrigation in the
‘Indira Gandhi Canal Command Area’ ?
(A) Waterlogging
(B) Increase in agricultural productivity
(C) Increase in soil salinity
(D) Increase in evaporation from canal water

4, The ‘Brundtland Report’ is known by which one of the following ?

(A)  Our Common Future
(B)  The Population Bomb
(C)  The Limits to Growth
(D)  Redistribution with Growth
5. Which of the following statements is correct regarding wheat cultivation
in India ?
(A)  Wheat is a crop of tropical zone.
(B)  Wheat is grown during kharif season.
(C)  Wheat requires water stagnation at the time of its sowing.
(D) Uttar Pradesh, Madhya Pradesh, Punjab and Haryana are the

leading producer states.

6. In which one of the following states is the productivity of rice the

highest ?
(A)  Punjab (B) Bihar
(C) Andhra Pradesh (D) Odisha
7. Which one of the following is the most polluted river of India ?
(A) Mahanadi (B) Narmada
(C) Yamuna (D) Kaveri
64/5/3 5 VIV P.T.O.
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8. ‘Haryali’ — a watershed development project in India is sponsored by
which one of the following ?

(A) Central Government
(B) State Governments
(C) District Administration

(D) Non-Governmental Organisation

9. Which of the following sea port is located at the entrance of the Zuari

estuary ?
(A) New Mangalore (B) Kandla
(C) Marmagao (D) Paradwip

10. Under which one of the following commodities was the export from India
the highest during 2016 — 17 ?

(A)  Agriculture and allied products
(B) Ores and minerals

(C) Manufactured goods

(D) Crude and petroleum products

11. Read the following objectives of ‘Namami Gange Programme’ carefully
and choose the correct option.

I. To develop sewerage treatment system in towns.

II.  Afforestation along the river bank to increase biodiversity.

III. To construct check dam in the Upper Ganga basin.

IV. To develop ‘Ganga Grams’ in Uttarakhand, Uttar Pradesh,
Bihar, etc.

Options :

(A)  Only I, II and III are correct.
(B)  OnlyI, IT and IV are correct.
(C)  OnlyII, IIT and IV are correct.
(D)  Only I, III and IV are correct.
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12. Two statements are given below as Assertion (A) and Reason (R). Read
them carefully and choose the correct option.

Assertion (A) : “Slums are residential areas of least choice for living.”

Reason (R): “Slums are associated with unregulated drainage, lack of
basic amenities like drinking water, toilets, lights, etc.”

Options :
(A) Assertion (A) is correct, but Reason (R) is not correct.
(B) Assertion (A) is not correct, but Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).
13. Two statements are given below as Assertion (A) and Reason (R). Read
them carefully and choose the correct option.

Assertion (A) : Areas with mineral deposits and industries are densely
populated.

Reason (R): “Mining and industrial activities generate employment
opportunities and thus attract large population.”

Options :
(A) Assertion (A) is correct, but Reason (R) is not correct.
(B) Assertion (A) is not correct, but Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

14. Which of the following is regarded as a Tertiary activity ?
(A) Cattle rearing
(B) Farming
(C)  Work of plumbers
(D) Industrial work

64/5/3 9 WMV P.T.O.



HHITRET AT 1 SATYe% AT g 3R 94 61 15 9 17 7% % S 3T |

I=9 IAN-924

faY

SITHH 1T Tha0T T
15. FfaRad o & -6 SHifhshia Hshror shi SAfae sTereem i faRivdr § ? g Sugaa
forehed ot T hiTSTT |
(A)  ISHARfTear K oeidr SHT § iy &9 8 e o1t 2 |
(B) UG Ifg A €T Y I 2 |
(C) T SATehiRTa: HiY H HTH © |
(D) SRR SFEm vem &Y 8 fm 2
16.  SHITShehI TshuuT T T T A Feifer Frefafad @ - hem a2 2
(A) YT ST H 3o IS TeAdT TR o AT 2 |
(B) SHEEIfE3IT=RI
(C)  AfererizT AT SN SR G S[S 2 |
(D)  SfteH-eImen 7eam 2 |




Study the graph given below and answer @. No. 15 to 17.
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Demographic Transition Theory

15. Which one of the following is a characteristic of the last stage of
demographic transition ? Choose the most appropriate option.
(A)  Both fertility and mortality decline considerably.
(B)  Growth of population is moderately high.
(C)  People are largely involved in agriculture.
(D)  Technological application is moderately low.

16. Which one of the following statements regarding Stage I of demographic
transition is true ?
(A) Stage I has high fertility and high mortality.
(B)  Population growth is high.
(C)  Most of the people are engaged in industrial activities.
(D) Life expectancy is moderate.
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Note :

15.

16.

17.

Which one of the following is applicable to Stage II of demographic
transition ? Choose the most appropriate option.

(A) Stage II is marked by the reduction in mortality rate.
(B) Health and sanitation conditions remained the same as in Stage I.
(C)  In spite of high birth rate, high death rate lowers the population.

(D) By the end of the first half of Stage II, the gap between birth rate
and death rate is low.

The following questions are for the Visually Impaired Candidates
only in lieu of @. No. 15 to 17.

Under which one of the following stages of demographic transition, the

country is highly developed ?
(A) Stagel

(B)  First half of Stage 11
(C)  Second half of Stage 11
(D) Last Stage

Which one of the following countries is in the last stage of demographic

transition ?

(A) SriLanka
(B) Bangladesh
(C) Japan

(D) Kenya

Which one of the following stages of demographic transition shows high
rates of births and deaths with almost stable population ? Choose the most
appropriate option.

(A) Stagel

(B)  First half of Stage 11

(C)  Second half of Stage I1

(D) Last Stage
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SECTION B

Questions number 18 and 19 are Source-based Questions. 2x3=6

18. Read the given passage carefully and answer the questions that follow : 3x1=3

A Role Model to Restore the Ecology and Safeguard
Human Health in Daurala

Based on the universal law “Polluter pays”, effort to restore the
ecology and safeguard the human health with people’s participation has
taken place in Daurala near Meerut. These efforts are now bearing fruits
after a span of three years when Meerut based NGO had developed a
model for ecological restoration. The meeting of the Daurala Industries
Officials, NGOs, Government officials and other stakeholders at Meerut
has brought out results. The powerful logics, authentic studies and the
pressure of people have brought a new lease of life to the twelve thousand
residents of this village. It was in the year 2003 that the pitiable
condition of Dauralaites drew the attention of the civil society. The
groundwater of this village was contaminated with heavy metals. The
reason was that the untreated wastewater of Daurala industries was
leaching to the groundwater table. The NGO conducted a door to door
survey of the health status of the residents and came out with a report.
The organisation, the village community and people’s representatives sat
together to find out sustainable solutions to the health problem. The
industrialists showed a keen interest towards checking the deteriorating
ecology. The overhead water tank’s capacity in the village was enhanced
and a 900 m extra pipeline was laid to supply potable water to the
community. The silted pond of the village was cleaned and recharged by
desilting it. Large quantity of silt was removed paving way to large
quantity of water so that it recharged the aquifers. Rainwater harvesting
structures have been constructed at different places which has helped in
diluting the contaminants of the groundwater after the monsoons.
1000 trees have also been planted which have improved the environment.

(18.1) Mention the problems faced by the people of Daurala. 1

(18.2) Describe measures taken to restore the deteriorating ecology of
Daurala. 1

(18.3) Examine the role of Non-Governmental Organizations improving
the health status of the people of Daurala. 1
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19. Study the given map carefully and answer the questions that follow :
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(19.1)

(19.2)

(19.3)

international trade.
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In which country has the Suez Canal has been constructed ?

Name the ports marked as @ and on the map.

3xX1=3

1

—+—=1
2 2

Describe any two reasons of the importance of Suez Canal for

1

—+—=1
2 2

P.T.O.



;. TFferfaa 34 Fact gfeatiera udtentefal & fore 9 G&ar 19 F TIH W/ E |

(19.1) 39 =1 1 A foiay, e ot Tet 1 i gam 2 |

(19.2) WiE STt Gt 3% A forfia < B Ter g 9 § | Talal
(19.3) T T8 o HEW 1 Icei@ HIT |
QU T
V4 G120 € 23 TT-ITNIIHE |
20. U T & F9 H ¥t T TET TSR Joeft Y AHE % 0 F T H GHIAT R 1 3

Y sl TG HIT |

21. (%) WM % faohE & HTYRVT STERIHAT UMM’ & TG T8 hl AT
HifeTe |
AT
(@) | forehTe o “HeToT YT o T Tl hl saredt hifsT |
22. (%) WRAH Tfad aRqal i T foRIvdrsl st et Hig |
Tt
(@) wRdH afiferd i i v foRrdre 6 same HifT |
23,  “YRA § @i GHTEAT o ETeI0T Y ST STTEavThdT © |7 36 9 ol 1@ Hifee |
Que Y
Y &1 24 T 28 AT IIE |
24. (%) < AT forehrer H AT Tt hT fvreh o forgerwor hifaTe |
araT
(@) T o SATTeIe TorehTe & Tash! Tgehi i YHeRT T foreror hifTT |
25. T=oe e hl 4 fomivarst s fageiwor Hifsrg | F foreft i e wrer ox fasic
ERIE R
26. fova o ST SR % e Y ST i |
27. (%) fowad snfesmrel fHate v it qe foxivdrs i samen iy |
AT
(@) fora o anforsa oxpa are o6 qed foRisdret i s hifvT |
28. YA U SHETAT o1 3T (eh T T forawor fore g iifass, wmisre, oo

oI UfeTiies IRl o @19 36 =S Geiul sl aeiar & 2 Ierewn gfed fagarsor
e |

4x3=12



s

e

Note: The following questions are for the Visually Impaired Candidates
only in lieu of Q. No. 19.

(19.1) Name the country in which the Suez Canal has been constructed. 1
(19.2) Name the major water bodies which are linked by the Suez
Canal. é +é =1
(19.3) Mention the significance of the Suez Canal. 1
SECTION C
Questions number 20 to 23 are Short Answer Type Questions. 4x3=12
20. “The core concern of geography as a discipline is to understand the earth
as the home of mankind.” Examine the statement. 3
21. (a) Explain the main aspects of the ‘Basic Needs Approach’ of human
development. 3
OR
(b) Explain the main aspects of ‘Welfare Approach’ of human
development. 3
22. (a) Explain the main features of ‘Clustered Settlements’ in India. 3
OR
(b)  Explain the main features of ‘Dispersed Settlements’ in India. 3

23. “There is an urgent need to conserve the mineral resources in India.”

Examine the statement. 3
SECTION D
Questions number 24 to 28 are Long Answer Type Questions. 5x5=25
24. (a) Analyse the role of the Indian Railways in the economic
development of the country. 5
OR
(b)  Analyse the role of metalled roads in the economic development of
India. 5
25. Analyse the main characteristics of foot loose industries. Why are they
not dependent on any specific raw material ? 5
26. Explain the importance of international trade in the world. 5
27. (a) Explain the main features of ‘Primitive Subsistence Agriculture’ in
the world. 5
OR
(b)  Explain the main features of ‘Commercial Livestock Rearing’ in the
world. 5

28. How does the highly uneven spatial distribution of the population in India
suggest its close relationship with physical, social, economic and historical
factors ? Analyse with examples. 5
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SECTION E

Questions number 29 and 30 are Map-based Questions. 2x5=10

29. On the given political outline map of the World (on page 25), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. A major sea port

B. An international airport

C. An important shipping canal

D. An area of subsistence gathering

E. An area of nomadic herding

F. A trans-continental railway terminal station

G. A region of extensive commercial grain farming

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5

(29.1) Name the major sea port located on the south-east coast of
Australia.

(29.2) Name the international airport of Kenya.

(29.3) Mention the name of the important shipping canal linking the
Pacific Ocean with the Atlantic Ocean.

(29.4) Mention one area of subsistence gathering in Northern Canada.
(29.5) Name an area of nomadic herding in Asia.

(29.6) Name the eastern terminal station of Trans-Siberian Railway
line.

(29.7) Mention an area of extensive commercial grain farming in
Canada.
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30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate
symbols : 5xX1=5

(30.1) The state leading in the production of cotton

(30.2) An oil refinery in Bihar

(30.3) An important bauxite mining area in Odisha
(30.4) A sea port along the coast of Andhra Pradesh
(30.5) An international airport in Kerala

(30.6) A coal mining area in Tamil Nadu

(30.7) The state with the highest density of population

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5xX1=5
(30.1) Name the state leading in the production of cotton.
(30.2) Name the place where oil refinery is located in Bihar.

(30.3) Mention the name of an important bauxite mining area in

Odisha.
(30.4) Mention the sea port along the coast of Andhra Pradesh.
(30.5) Mention an international airport in Kerala.
(30.6) Name the coal mining area of Tamil Nadu.

(30.7) Name the state with the highest density of population.
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) fofewr Sufamace & SrRM 3 & T & o=
ATE/ATER IdTGH &, IRTHT 9UT 39 IgIIiIS
THOd &3, UgTS! Q! dYT STa-T &3 A, Y AN
SRIS! a8 4 g gL |

(vi) GRT DI TqAAT WIS & 91 S 3 AN BT AR
31 &t /ot o T | 39 waifis mgayul
HIHUN ed B [IH™ g S YR &b aidedt aeged
de & 1Y 4as 3R ATE & sd | ST Jueh
IUAS FRIATE |

(vii) XA 3T ST & I1Y-91Y AT & forg +ff
Gfag &1 - W ST g3 & |
(viii) D5 3 Hefdd g |
forg! ua fagsii @1 fazevur g |
3ryar

@) TP i e A vawt Tsw! I yftre
&1 fazeryor Hiford |

(i) HRd BT I8P OTd a9y & fgdid [Aaay 98&
A AATH S |
(i) URd # HETHATT, Ired HETHM quT HiHid
pEra kAl WA g |
(ifi) I, IR TUT HY TS & 7T Jerae gl
%3; S = 3o fasrg w fa & 3ifa figar an
|

(iv) T8 S I &M IR & T 95 Teeb W R |

(v) 3T 3R dH-ep! AT & TY s ART HRY
O & 1T gaTs 3R a1 § 98 § |

(vi) DI Feifdd fig
(f=et ui fagent &1 fazawor Fiforg 1)

78,79
TB II

74,75

TB II

5x1=5

5x1=5
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Wi SN B g fa=ivarsit &1 fazeyor
P | A fdt fafkry w= v R Al = =8t

sael
T3 ol Oy &= Ara e R J &H1 8

g1 § oA ot R AR T Ed g |

i) ZAP! WU H HE@YUl SRS TSB! & old GRT
fFTar Bt

i) A AN AU fafqeydr arel R H Ry faby wn
TJHd g |

iv) 3 3N Jued gl R PRk T8d & o wet @ o
T ol ST 9 3 |

v) SOH SACA FHAATH g g |

vi) dHH e 4 Faia sd § |

vii) I : 3 I UGHUT el hard |

viiiy P13 3] Iard fog
(fr=dt ui figan &1 fazayor #ifv[ )

Pg 45
TB1

5x1=5
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fay # siRigia AR & Agw St AN B |
i) I8 IdTed H fAAwzrdr & R i A 71

i) 399 oy srfemamn HI A BT § I fafte 3w
aeg3ft & Iare H faRIvrar SR o fauH &1
3T €l

iii) T UHR ! (ARSI SATUR DI T il 7

iv) ST IR Ay e TTe o7 MR g 3R
15T 1 foewy Hifd & TeEfea 7

v) SIRISIY HTUR AR HISiER! & it IRERS
7 J AYYE 5

vi) P53 Ui gl
(=t uia faigai &1 sarer sifor )

Pg 82
TBI

5x1=5
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@) fay & -anfewrehts fFafe o S g
fa=iyarait @t aren s |

0) @wgiawaﬂa?ﬁﬁﬂqdaﬁwlﬁw
ST g |

(i) S0 Hieddig &z § o3 Tt e 39
THR B HRAIRAE |

(i) U8 P gfaror gdf TR, eivbieT, Gfé ud wer
ST & s &A1 § B ANl 3 |

(iv) Tl @1 MHR Igd BICT BIdT & 9UT T Wl RA
gﬁaﬁéﬁmmt{ammﬁw
|

(v) S8 ISt T IUSTS U JHT B Sl § a9 D
|

(vi) HRd & I<_I gat xrodl J 39 T, smRker ud
fRye! & freur wd AR 9 SSAfRmn & arenT
HET A g |

(vii) DTS 3 Heifdrd feig |

(f5=5Y uia fagait @1 aaren Sifvre 1)
3Yar

@) fay o aiforsa ugge uter * &1 g©T faxivanei
P RS Bifo |

(i) 39 TR BT UUTe 3T FaYd quT goit
Ty R |

(i) T fawmer qur =it sl R forar Sidr @ 3R U8
oy Spfa @ guifad §

(i) Iqul & ()@l BIT-BIt 3HRal § fquiord
a1 Srar 8 au TR B ufEd e & R are
IR U QR I T HR fear ot 3§ |

(iv) 399 U & UHR & TUTeH oI fa=var gidt 8

Pg 32-
34

TB1

5x1=5
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%ﬂﬁiﬁm Ys, Ut dUT g ivaf 3T dredt Sirdl
|

(v) ST T |, TSt TS 3ol BT AT &1 o
11T Td fesa d o) g@d: fay & a6l |
fafa fear S g |

(vi) 395 3 &M U3 & FoH, S-S YR
gﬂmﬁﬁmmwmwwﬁmw
|
(vii) Tasy & Jera: goficls, Sffecfern, sfofers,
3%7d Ud Yo T 3RS H 59 UDHR &l
URITE o ST §

(viii ) PIg 3T Falerd g |
(f5=gY i fagait @t amen B 1)

Pg 31-

32
TB1

5x1=5
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YR § TR BT SHAfd A RATIPp fQazor

fpa yer Wifaw, amfs, snfde aur efagie
PRI & 1Y Y & gAY Tra= B A1 g 2
ISTEIUN Afgd fazayor Hifor |

i) STAarg, Yfa SR 9Td &1 Sudsdl THE U 9
SR & faaRT & faedl &1 Feiia &t g

i) TRUMARGEY TR HRA & HeHl, Seerslf 3R
I A SRS &1 SUTd Sfeoh 3R A
ﬁu%ﬂaﬁerﬁ%%mﬁﬁﬁmﬁ

|

iii) ST faaRuT & e, e 3R UfaeTiie
HRDI H T AE@YU HRE RIS HY BT 3G 3R
HY faDH, AFa s & Ufaey, uRde ore
&1 AT MENHRr 3R TRIHRU R |

iv) HRd & e HeMl 3R acig 83 & 719 it &
IR gfagm 3R uRkag od o & fae &

HRUN TR BT WUl I ST g © |

(v) TRIT &F oY T, Gas, Hiawrd], STds , gor
JEHCTETS , T7% 3R TR H SRS BT WGl 3=
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1 G3HT 8 iTh T8t SN f[Adh SR RIS
P HRUT IS TBAT & YHOT 3R TRIG vt
AHNIEAT |

vi) BIg 3 U foig|

(fp=81 ui fagan o1 fazawo sifer ) Pg3 | sy1=5
TBII
TS &
Y YW1 29 T 30 AFRE MG U 8| 2x5=10

29

AT AR ¢ |

5x1=5
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For question no. 29

legir ok

v |. 29 % for
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64/5/2

fruafafad uy daa ederfia wHenffal & forw uy I@m 29 & WA R

gl

5x1=5

fFrafafaa 9 & fo=dl uia gyl & Sw fifve

24.
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(29.1) TdaH
(29.2) R¥e

(29.3) UAMHI R

(29.4) IAY HAST / HIST BT I feig &=

(29.5) R4 URG / AfeRT / A =H / TREAT &1 ST Ue™
(29.6) AGARCID

(29.7) VIR /ST TS

30

oy AT @

5x1=5
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For question no. 30
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ATTEMPT ANY FIVE
5x1 =5

34/5/2
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EAA A AT

30

dte; Frafafea uy Faa =P ifta el & fog uy dBn 30 F

R R g

5x1=5

frrafafad 9 @ fodl uiw gl & IR difvre:

(30.1) TR
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(30.2) I
(30.3) BRIYS / THAR / Flagie! / SR

(30.4) fo=mETTTY
(30.5) IFdamqRy
(30.6) dait

(30.7) foBR
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, 2024
SUBJECT NAME GEOGRAPHY Subject Code 029 (Q.P. CODE 64/S/3)

General Instructions: -

1 | You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may lead to
serious problems which may affect the future of the candidates, education system
and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

2 | “Evaluation policy is a confidential policy as it is related to the confidentiality
of the examinations conducted, Evaluation done and several other aspects.
Its’ leakage to public in any manner could lead to derailment of the
examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of
the Board and IPC.”

3 | Evaluation is to be done as per instructions provided in the Marking Scheme. It
should not be done according to one’s own interpretation or any other
consideration. Marking Scheme should be strictly adhered to and religiously
followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for
their correctness otherwise and due marks be awarded to them. In class XIl|,
While evaluating two competency-based questions, please try to understand
given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

4 | The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete
answer. The students can have their own expression and if the expression is
correct, the due marks should be awarded accordingly.

5 | The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should
be zero after delibration and discussion. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in
the marking of individual evaluators.

6 | Evaluators will mark( ' ) wherever answer is correct. For wrong answer CROSS ‘X’
be marked. Evaluators will not put right ( v )while evaluating which gives an
impression that answer is correct and no marks are awarded. This is most
common mistake which evaluators are committing.

7 | If a question has parts, please award marks on the right-hand side for each part.
Marks awarded for different parts of the question should then be totaled up and
written in the left-hand margin and encircled. This may be followed strictly.

8 | If a question does not have any parts, marks must be awarded in the left-hand
margin and encircled. This may also be followed strictly.




9 | If a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out with a note “Extra
Question”.

10 | No marks to be deducted for the cumulative effect of an error. It should be
penalized only once.

11 | A full scale of marks _ 70 (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 | Every examiner has to necessarily do evaluation work for full working hours i.e., 8
hours every day and evaluate 20 answer books per day in main subjects and 25
answer books per day in other subjects (Details are given in Spot Guidelines).

13 | Ensure that you do not make the following common types of errors committed by
the Examiner in the past:-

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title
page.

e Leaving answer or part thereof unassessed in an answer book.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick
mark is correctly and clearly indicated. It should merely be a line. Same is with
the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it
should be marked as cross (X) and awarded zero (0)Marks.

15 | Any unassessed portion, non-carrying over of marks to the title page, or totaling
error detected by the candidate shall damage the prestige of all the personnel
engaged in the evaluation work as also of the Board. Hence, in order to uphold the
prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the
“Guidelines for Spot Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried
over to the title page, correctly totaled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.




MARKING SCHEME
Supplementary Examination, 2024
SUBJECT- GEOGRAPHY (029)

PAPER CODE-Set 64/S/3

SET-3
MM-70
Q EXPECTED ANSWERS/VALUE POINTS Page | Distributi
No no in on of
TB marks
SECTION -A 17x1=17
Question no. 1-17 are Multiple Choice Questions.
(D) Gaddi Pg 68
L. TBII 1
(C) Migration Pg 9 1
2 TBI
(B) Increase in Agricultural Productivity
3 Pg 72 1
TBII
(A) Our Common Future
4 Pg 70 1
TBII
(D) Uttar Pradesh, Madhya Pradesh, Punjab and
5 Hayana are the leading producer states. Pg 28 1
TBII
(A) Punjab
6 Pg 26 1
TBII
(C) Yamuna
7 Pg 44 1
TBII
(A) Central Government
8 Pg 47 1
TBII
(C) Marmagao
9 Pg 90 1
TBII
(C) Manufactured goods
10 Pg 88 1
TBII
(B) Only], I and IV are correct.
11 Pg 97 1
TBII




(C) Both Assertion (A) and Reason (R) are correct Pg 103
12 and Reason (R) is the correct explanation of TB II
Assertion (A).
(C) Both Assertion (A) and Reason (R) are correct
13 and Reason (R) is the correct explanation of Pg8
Assertion (A) TBI
(C) Work of Plumbers
14 Pg 45
TB1
Study the graph given below and answer Q. No 15
to 17.
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Demographic Transition Theory
(A) Both fertility and mortality decline Pg 10
15 considerably. TBI
16 | (A) Stage I has high fertility and high mortality. Pg 10
TBI
(A) Stage II is marked by the reduction in
17 mortality rate. Pg 10
TBI
For the Visually Impaired Candidates In lieu of
Q.No. 15t0 17
15. | (D) Last Stage
16. 1 g apan
17. (A) Stagel




SECTION B

Questions number 18 and 19 are Source-based
Questions.

2x3=6

18

Read the given passage carefully and answer the questions
that follow:

A Role Model to Restore the Ecology and Safeguard
Human Health in Daurala

Based on the universal law “Polluter pays”, effort
to restore the ecology and safeguard the human
health with people’s participation has taken place
in Daurala near Meerut. These efforts are now
bearing fruits after a span of three years when
Meerut based NGO had developed a model for
ecological restoratio9n. the meeting of the Daurala
Industries officials, NGOs, Government officials
and other stake holders at Meerut has brought out
results. The powerful logics, authentic studies and
the pressure of population have brought a new
lease of life to the twelve thousand residents of this
village. It was in the year 2003 that the pitiable
condition of Dauralaites drew the attention of the
civil society. The groundwater of this village was
contaminated with heavy metals. The reason was
that the untreated waste water of Daurala
industries was leaching to the ground water table.
The NGO conducted a door to door survey of the
health status of the residents and came out with a
report. The organization, the village community
and people’s representatives set together to find out
sustainable solutions to the health problems. The
industrialist showed a keen interest toward
checking the deteriorating ecology. The overhead
water tank’s capacity in the village was enhanced
and a 900 meters extra pipeline was laid to supply
potable water to the community. The silting pond
of the wvillage was cleaned and recharged by
desilting it. Large quantity of silt was removed
paving way to large quantity of water so that it can
recharged the aquifers. Rainwater harvesting
structures have been constructed at different places
which has helped in diluting the contaminants of
the ground water after the monsoons. 1000 trees
have also been planted which have improved the
environment.




(18.1) Mention the problems faced by the people of
Daurala

1) The groundwater of Daurala was contaminated
with heavy metals.

i1) Untreated polluted water of Daurala

industries was leaching to the ground water
table.

iii) People suffered from various health issues.
iv) The ecology was deteriorated.

v) Any other relevant point.
(Any one point to be mentioned)

(18.2) Describe measures taken to restore the
deteriorating ecology of Daurala.

1) People’s participation was sought by
involving Daurala industries officials, NGOs,
governmental officials and other stake

holders.

i1) Overhead water tank capacity was
enhanced.

ii1) large quantity of silt was removed to
recharge the aquifers.

iv) Rainwater harvesting structures have been
constructed.

v) 1000 trees have also been planted.

vi) Any other relevant point.
(Any one point to be described)

(18.3) Examine the role of Non-Governmental
Organizations improving the health status of the
people of Daurala.

1) The NGO, the village community and people’s
representatives sat together to find out sustainable
solutions to the health problems.

i1) NGO conducted door to door survey to access the
health status of the residents.
iii) Any other relevant point.

(Any one point to be examined)

Pg 99
TBII

19

Study the given map carefully and answer the question that




follow:

SUEZ CANAL
Mediterranean Sea A

\\:‘:IB Dalta

Bir Hasan Lake
b _.
,  Great Bitter Laka !

® Cairo

— Ship Canal
m Railway
= Fresh waler canal

Suez Canal

(19.1) In which country has the Suez canal been
constructed?

Egypt

(19.2) Name the ports marked as A and B on the
map.

A- Port Said
B- Port Suez.

(19.3) Describe any two reasons of the importance
of Suez Canal for International trade.

1) It gives Europe a new gateway to the Indian
Ocean.

1) It reduces the sea route distances between
Europe and South and South East Asia.

iii) It saves fuel and time in transportation
iv) Any other relevant point.

(Any two points to be described)

Pg 63
TBI1

3x1=3
1
Vot =1
Vot =1




Note : For Visually Impaired Candidates Only in lieu of
0. No. 19

(19.1) Name the country in which the Suez canal
has been constructed.

Egypt

(19.2) Name the major water bodies which are
linked by the Suez canal.

i) Mediterranean sea
i) Red sea.

(19.3) Mention the significance of Suez canal.

1) It gives Europe a new gateway to the
Indian Ocean.

i1) It reduces the sea route distances between
Europe and South and South East Asia.

ii1) It saves fuel and time in transportation
iv) Any other relevant point.

(Any one point to be mentioned)

Pg 63
TB1

Vot =1

SECTION-C
Questions number 20 to 23 are Short Answer
Type Questions.

4x3=12

20

“The core concern of geography as a discipline is to
understand the earth as the home of mankind.”
Examine the statement.

i) The emphasis is on study of nature and human
beings.

ii) It studies all those elements which sustain
mankind.

iii)) Both the components of geography i.e physical
and human geography study the relationship
between the physical and human world.

iv) Reach of geography is extensive and each and
every event or phenomena which varies over
space and time can be studied geographically.

v)  Any other relevant point.

(Any three points to be examined.)

Pg1
TB1

3x1=3
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(a) Explain the main aspects of the °‘Basic Needs
Approach’ of human development.
1) Basic Needs Approach was proposed by ILO
(International Labour Organisation).
i1) Six basic needs i.e. health, education, food, water
supply, sanitation and housing were identified.
ii1) The question of human choices is ignored.
iv) Emphasis is on the provision of basic needs of
defined sections.
v) Any other relevant point
(Any three points to be explained.)

OR
(b) Explain the main aspects of the ‘Welfare Approach’
of human development.

1) This approach looks at human beings as beneficiaries
or targets of all development activities.

i1) This approach argues for higher government
expenditure on education, health, social security and
amenities.

ii1) People are not participants in development but only
passive recipients.

iv) The government is responsible for increasing level of
human development by maximizing expenditure on
welfare.

v) Any other relevant point.

(Any three points to be explained.)

Pg 17
TB1

Pg 17
TB 1

3x1=3

3x1=3
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(a) Explain the main features of ‘Clustered

Settlements’ in India.

1) It is compact or closely built-up areas of
houses.

i1) It is distinct and separated from the
surrounding farms, barns and pastures.

iii) The closely built-up areas and its streets
present some recognisable pattern or
geometric shape.

iv) Such settlements are generally found in
fertile alluvial plains and in the north
eastern states.

v) People live in compact villages for security or

defence reasons.

vi) Any other relevant point.

(Any three points to be explained.)

Pg 16
TBII

3x1=3




OR
(b) Explain the main features of ‘Dispersed

Settlements’ in India.

1)  Dispersed or isolated settlement appears in
the form of isolated huts or hamlets of few
huts.

ii) It is found in remote jungles or in small hills

with farms or pastures on the slopes.

iii) Extreme dispersion of settlement is often
caused by extremely fragmented nature of
terrain and land resource base of habitable
areas.

iv) Many areas of Meghalaya, Uttarakhand,
Himachal Pradesh and Kerala have this type
of settlement.

v) Any other relevant point.

(Any three points to be explained.)

Pg 16
TBII

3x1=3
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“There is an urgent need to conserve the mineral
resources in India.” Examine the statement.

i) Export of strategic and scarce minerals must
be reduced.

i1) Reuse and recycling of minerals should be
done.

ii1) Use of scrap is especially significant in metals
like copper, lead and zinc in which India’s
reserves are meagre.

iv) Substitutes for scarce metals need to be
developed to minimize their consumption.

v) Sustainable development calls for the
protection of mineral resources for future
generation.

vi) Any other relevant point.

(Any three points to be examined.)

Pg 64
TBII

3x1=3

SECTION -D
Questions number 24 to 28 are Long Answer
Type Questions.

(5x5=25)

24

(a) Analyse the role of the Indian Railways in the

economic development of the country.

i)  Indian railway network is one of the longest in
the world.

ii) It facilitates the movement of both freight and
passengers and contribute to the growth of
economy.

iii)) Conversion of metre and narrow gauge to

10




iv)

V)

vi)

vii)

viii)

broad gauge and replacement of steam engines
to diesel and electric engines has increased the
speed as well as haulage capacity.

Metro rail has revolutionised the urban
transport system in India as it facilitates the
movement of people, which enhances their
working efficiency and spheres in spatial
contexts.

Areas around towns, raw material producing
areas and of plantation and other commercial
crops, hill stations and cantonment towns
were well connected by railways from the
British colonial era.

After independence, railway routes have been
extended to other areas. The most significant
development has been the development of
Konkan railway along the west coast providing
a direct link between Mumbai and Mangalore.
Railway continues to remain the main means
of transport for the masses as well as goods
too.

Any other relevant point.

(Any five points to be analysed.)

Or

(b) Analyse the role of metalled roads in the

i)
ii)

1ii)

iv)

V)

vi)

economic development of India.
India has one of the second largest network
of roads in the world.
India has large network of National
Highways, State Highways and Border roads.
Road network has accelerated economic
development by helping the industries, trade
and farming community.
It 1s very helpful in the defence preparedness
in the country.
With economic and technological
development road transport carries huge
volume of goods and traffic.
Any other relevant point.
(Any five points to be analysed.)

Pg 80
TBII

75,76
TB II

5x1=5

5x1=5

11
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Analyse the main characteristics of foot loose
industries. Why are they not dependent on any
specific raw material?

1) These industries are not dependent on the
availability of any specific raw material, weight
loosing or otherwise.

ii) The important factor in their location is
accessibility by road network.

iii) These can be located at wide varieties of places.

iv) These industries depend largely on component
parts which could be obtained from anywhere.

v) They produce small quantity of goods.

vi) They employ small number of labour.

vii) They are generally non polluting industries.
viii) Any other relevant point.

(Any five points to be analysed.)

Pg 38
TB1

5x1=5

26

Explain the importance of international trade in
the world.

i) It exists because of specialisation in production.

i1) It benefits the world economy, if different
countries practise specialisation and division of
labour in the production of commodities.

iii) Each kind of specialisation gives rise to trade.

iv) Now a days trade is the basis of the world
economic organisation and is related to the
foreign policy of nations.

v) International trade is mutually beneficial to the
trading partners.

vi) Any other relevant point.
(Any five points to be explained.)

Pg 72
TBI

5x1=5

27

(a) Explain the main features of ‘Primitive
Subsistence Agriculture’ in the world.

i) It is also called shifting or slash and burn
agriculture.

i1) Many tribals in the tropical areas practice
this type of cultivation.

iii) It is being practised in many areas of
South east Asia, Africa, South and Central
America.

12




iv) The size of the field is very small and the
cultivation is done with primitive tools
such as sticks and hoes.

v) When the soil loses fertility, they leave
that area and clear some other land for
cultivation.

vi) It is known as Jhooming in North east
India, Milpa in Central America and
Mexico, Ladang in Indonesia and
Malaysia.

vil)  Any other relevant point.

(Any five points to be explained.)

OR

(b)Explain the main features of ‘Commercial
Livestock Rearing’ in the world.

i) This type of livestock rearing is more
organised and capital intensive.

ii) Cattle are reared on large and permanent
ranches and it is essentially associated with
western culture.

ii1)) Ranches are divided into a number of
parcels which are fenced to regulate the
grazing.

iv) It is specialised in the rearing of one type of
animal like cattle, sheep, horses and goats.

v) In this products such as meat, wool, hide
and skin are processed and packed
scientifically mainly for export.

vi) The emphasis is given on genetic
improvement, breeding, disease control and
health care of the animals.

vii) New Zealand, Australia, Argentina,
Uruguay and USA are the major countries
where commercial rearing is done.

viii) Any other relevant point.

(Any five points to be explained.)

256,27
TB1

Pg 24,
25 TB1

5x1=5

5x1=5

28

How does the highly uneven spatial distribution of
population in India suggest its close relationship
with physical, social, economic and historical
factors? Analyse with examples.

i) Climate, terrain and availability of water
largely determine the pattern of distribution of
population.

ii) Consequently the north India Plains, deltas
and coastal plains have higher proportion of
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population than interior parts of southern and
central Indian states etc.

ii1)) Among the social economic and historical
factors of distribution of population, important
ones are evolution of settled agriculture and
agricultural development, patterns of human
settlement, development of transport network,
industrialization and urbanization.

iv) Regions falling in the river plains and the
coastal regions of India have remained the
regions of large population concentration
because of an early history of human
settlement and development of transport
network.

v)  Urban regions of Delhi, Mumbai, Kolkata,
Bengaluru, Pune, Ahmedabad, Chennai and
Jaipur have high concentration of population
due to industrial development and
urbanization drawing large numbers of rural-
urban migrants.

vi) Any other relevant point.

(Any five points to be analysed.)

Pg3
TBII

P5x1=5

SECTION E
Questions number 29 and 30 are Map-based
Questions.

2x5=10

29.

Please See Attached Map:-

5x1=5
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For question no. 29

i PT.0!

Note: For Visually Impaired Candidates only in lieu of @.No. 29

Attempt any five.

29.1) Melbourne
(29.2) Nairobi
(29.3) Panama Canal

ox1=5

(29.4) Northern Canada / High latitude zones of Canada
(29.5) Arabian Peninsula / Mangolia/ Central China / Tundra region of

Asia
(29.6) Vladivostok

(29.7) Prairies / Canadian Prairies
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30.

Please See Attached Map..

S
T H. 30 % foru

For question no. 30

L™ Outline Map of India (Political)
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5x1=5

Note : For Visually Impaired Candidates only in lieu of . No 30.

Koraput / Sambalpur /Kalahandi /Bolangir

Attempt any five.
(30.1)  Gujarat
(30.2) Barauni
(30.3)
(30.4) Vishakhapattnam
(30.5) Thiruvananthapuram
(30.6) Neyveli
(30.7) Bihar

5x1=5
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